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% e l:f:l.f-g a helical | atuning |arippletank| a string

Which of the following dgvices can be used to produce both spring fork
transverse and longitudinal waves? (slinky)

2 GF L bl Ga | | 5 S
Waves transfer from one place to other: energy | frequency | wavelength velocity

3. e bﬂdb:’lcﬂidii_flﬁhyﬁﬂﬁj)’buﬁ: ufl._,ti-?fﬂ u’iﬁf wﬂ“’ﬁéi C:’EJ"LQ! Uy
Which of the following is a method of energy transfer? conduction| radiation |wave motion | all of these

4, Ly G| Y 52 5 5,
In vacuum, all electromagnetic waves have the same speed frequency | amplitude |wavelength




5. N 25 oL 25750, B 32030 AL i A1z 1| 53 cms™! | 60 ems™! | 750 ems™! | 1500
“Ji’*lfgj' U d/g: Wlle [:'ﬁf;ix! cms™]
A large ripple tank with a vibrator working at a frequency of
30 Hz produces 25 complete waves in a distance of 50 cm.
The velocity of the wave is

6. *Jwﬂﬂ;;ﬂhr‘? %) /,xu_"f::"r"; u’“cjfﬁr;_’u;. e ,;_,,t YL A Lﬁ‘":g ; e Lft{"' 5‘@{;
Which of the following characteristics of a wave is speed frequency | amplitude |wavelength
independent of the others?

T *¥nl/l KJ:’;_:?&%JIFL@L:)TIL:J#}JJLFH:E';M L';ff; F2 butlh | bulk | ¥ Lfﬁffbﬁ: -3 Lfﬁﬂ’wilf
If the mass of the bob is decreased by the factor 2, then increases | remain the | decreases ¢
period of pendulum will be: by factor same ctor 2 | decreases

2 by factor 4

8. - &L{;F_lfui ﬁ%u;l - f’“’;ﬁ,ﬁ:{.f"mtfz_’hg vf= A @ va =f vV = i
The relation between velocity (v), frequency (f) and (@ ]t
wavelength (i) of a wave is: A

9. V(S BRSO, L @(S@ EAL s B 7
In simple pendulum motion restoring force is provide air tension in inertia weight of

resistance | the string body

10. Y Lty 5 Gl

time wave amplitude wave
period speed energy

11. - ,J:;J,,EJJ ELugs¥ | vl | e | i T
The example of shock abs vehicles is: jv‘ vibratory damped Linear

SHM motion motion motion

12. st 2 0s1n340 ms~ xS 11| 170Hz | 340Hz 680Hz 3400Hz
If the speed of a wave i$7°340 ms~! and wavelength is 0.5m,
then frequency will be:

13. -b’ﬂéﬁr}%ﬁﬂ?ﬁ}i@JQJA%@{%.J 1.99sec | 2.11 sec 1.89 sec 1.88 sec
If length of a pendulum is one meter on earth, then its time
period will be:

14. S IO DY ;g;Jiﬁf'ﬁ’J st | s .f,iﬁ?fﬁ’jr lfL?Lj{:i;
Radio waves are: longitudinal | transverse | elecromagnetic| All of these

waves waves waves

15. SRSl S B GBS | et 2, 32 (5
The number of waves passing through a point in one second | frequency | displacement| wavelength | amplitude

is called:




16. —e Grnlie mUKEU A Loz 4redE | oeeds | ussbula | Bt
Kinetic energy of mass spring system is maximum at: extreme p mean both aand b ._,r.‘.'”

osition position none

17. Btk a ATl i A | VT T T
If the mass of spring mass system is doubled its time period ) . \/ET \E
becomes:

18. e Qs i dnfot 2 Ll P duer | L # < G
When water waves enter the region of shallow water their decreases| increases | becomes remains
wave length: zero same

19. cJBGBES| pie | oaed | wdd | bl
Which is an example of longitudinal waves? sound radio waves water

waves wav waves

20. e FodSg A K JSF ¥4
Which form of energy is sound? electrice{ &thanical thermal chemical

21. T.;_L':‘:’EJ;.;_I{;M}:JL}KL,-’*J':;;UL,{,-‘I?EL- Ve :/’ ED"-‘/,.E,;} ﬁ%; 3o | fﬁr
The loudness of sound mostly depends upon: &@y oeriod wavelength | amplitude

22. eSS e S5 L { Hz\fg 20 Hzto | 25 Hzto 25 | 30 Hz to
For a normal person, audible frequency range for 5@ 10 kHz 20 kHz kHz 30 kHz
wave lies between

23. 120dB 100dB 130dB 150dB
The intensity level of train siren is: O.l

24. \‘»«é{ﬁiwﬂm 25°C 334 ms™' | 346 ms™! | 1246 kmh™1 | both b & ¢

26. -,:*_.Jﬁgj:ﬁ{?&jfﬂ@u&:1;25”09'2?.;5}6 972 1290 2000 3980
The speed of sound in wood at 25°C in meters per second
IS:

27. —e bl SL| 10dB 20dB 30dB 40dB
One bell is equal to:

28. i e GEISE [ wm Wm’ Wm? Wm™2
The unit of intensity of sound is:

29. :?JM}EJEJKQ ST y; u""}frg ; Lk ,;5'%; 435 L
The Pitch of sound mostly depends on: frequency | period wavelength | amplitude

30. £ ds u:it NS e sorinund uf*:/’.f L:EJ'L A LF'EE)JJ' prAn( 5‘% v
Which of the following quantities is not changed during its its its speed its

| reafra sbimrm ~AF Lt

I Airasti e

| Framiiam™vs |

Lvarv sl sl |




31. Kfi;;_ & u_,,*"f;_g‘i{pﬁim cm. /o -20 e ei 8,509 (1| 5em 7.5 cm 15 cm 20cm
B Lo
A converging mirror with a radius of 20 cm creates a real
image 30 cm from the mirror. What is the object distance?

32. SIS G e poc iy g i/ STl p P | For ST | g For ST | st/ ST |yt B
An object is placed at the centre of curvature of a concave J)J,»;g;-_. at the iﬁr{u‘{;’ at the focal
mirror. The image produced by the mirror is located out centre of O] point
Prepared By Syed Arfat Haider beyond | curvature | between the
Physics, Leading Expert (0333-4082706) the centre centre of

of curvature
curvature d the
cdl point
33. |- 5.8 cm&&EL B cly o614 cmis szlj/;_rgf(’-l{r -4.1cm -9.9 cm -20 cm
'E'.T_y}@f}h’;/ (
An object is 14 cm in front of a convex mirror. The image is @
5.8cm behind the mirror. What is the focal length of the G
mirror?

34, ?{_ﬁ:-ﬁ,.;u’fufrh’f‘?} i EEJJ:’ {&;’Jju .;;J-ﬂliﬁ.gl ,;Jﬂﬁﬁ.(?
The index of refraction depends on @ the focal | the speed | the image | the object

length of light distance distance

35. JFAE | sl | Sgumd | Fnse | Soumfi
Which type of image is formed by 2 inverted inverted | upright and upright
screen? and real | and virtual real and virtual

36. J:n.{/f'f'f-rufg;"/ PRy ugifﬂﬂ{.:l ﬁmlo‘} uEJJ!JL:‘JJ

UE?_,;; inverted | upright and | inverted
screen. upright | and virtual real and real
Prepared By Syed Arfat Haider and
Physics, Leading Expert (0333-4082706) virtual

a7, e kB LA L T80| rl | cndhB | o | Sidis
Which type of image is produced by the converging lens of :#L?Jr') gr’a’.’ Jﬂ,h."-q"’; S
human eye if it views a distant object? s real, virtual, virtual,
Prepared By Syed Arfat Haider real, inverted, erect, inverted,
Physics, Leading Expert (0333-4082706) erect, [diminished | diminished | magnified

same size




38. i-;-sﬂus.:-ﬁ%@ﬁ Jﬂ/{ S K Lﬁ:*"J;Z s | I —*.-.*‘fJ}.,.J! et $e
Image formed on a camera is Jﬁf:.»;ﬁ J:«g’ et sl Skt S
real, virtual, virtual, real
inverted, upright upright and | inverted
and and magnified and
diminished | diminished magnified
30, | S e S IS e DS e s ie J B E psie | wiie | el i | ok i
_d;?L.J;ﬁ]jfL refract |reflect only ) diffract
If a ray of light in glass is incident on an air surface at an only partially only
angle greater than the critical angle, the ray will ct and
jally
@ reflect
40. e AT | 152 ( oo’ | 242 2.21
Index of refraction of diamond is: R @
41, et fa AT %@ 49.50° 45° 46°
Critical angle of water is: x
42, e bl L A e
The human eye has: convex concave | convexlens | concave
/—@ mirror mirror lens
43, Tk .| 1.52 1.31 2.42 1.33
The refractive index of ice is: ‘
44, e AR 2 3 4
The value of refractive |@
45. -f_druﬁuﬂﬂﬁu& 33x10% [ 25x10% | 2.3x10% | 2.6x10°
The speed of Ilght in water is approximately: L me™1 =YY, ms="1
46. --:.;-JJ'E'{L{JJLU% i 2 i i
The power of lens is equal to: T f f
47. gl el A T =% 5= ﬁ&-‘nd‘f B=%1
Optical fibres work on the principle of reflection | refraction | total internal | diffraction
reflection
48. e b P ST 22K
The relation between focal length and radius of curvature is: | f = 5 [ = E e E [ = E
2 3 o 5
49, i 52 A0S 1D 0.5D 1.5D 2D

If focal length of lens is 1m than its power will be:




50. e S fESEg | 4w 45° 90° 0°
The critical angle of glass is:
51, e fl) J/,xu.frf%_ nf” T&,;!f ok b Sty Sl }'i; /r__ fﬂff’ﬂ.@ J ilo ¥ e il bty U
An object gains excess negative charge after being rubbed neutral | negatively | positively All
against another object, which is: charged charged
52. | wnl o bl dobund 2b Hen TG Lot l | < dbon | oBenf | 3G dS | b
Sl TiL,Cfu;;J;L increases | decreases | remains Jﬁ o
According to Coulomb's law, what happens to the attraction unchanged | cannot be
of two oppositely determined
53. S Usird Lo SIK N | 27 | /o7 [zpesyd/t | cumdt
The Coulomb's law is valid for the charges which are Lilglm |7 & HJLFZ-.:;LF
Prepared By Syed Arfat Haider LLz tionary 7. 304
Physics, Leading Expert (0333-4082706) moving . and point | stationary
Lecturer, and pnir( charges and large
The Ambitious Academy charges “-and large size
Founder, Educational Wave Pakistan CD size charges
charges
54. | SetomAobyoa-c LU, o6l 4 om b $1inf Tl SN W ae & | acde |8 de [ 16
L u,Jf Jﬁr‘f Jﬂ”y fﬂ Jm;_l:,?
A positive and a negative charge are initial 3 4 times 4 times 8 times 16 times
When they are moved closer together g0 thattr smaller |larger than| larger than | larger than
only 1cm apart, the force betwee @ than before before before
before
5. | e byt /zbld & .:_,,.m [1/epl10 CLI| 0.5V 2V 5V 10V
@ E/.r"q_f JJ":‘?JL{:J.{:HLWQ:’”
Five joules of work is ed to shift 10 C of charge from
one place to another. The potential difference between the
points is
56. | L= St soar e S\ 2682 mm:fw‘/_-ffigjk.j_;{;: +1gand | -1gand |+2gand +2q| +2qand
?fﬂuﬂ};{j‘f{;g;c_,g +4q —4q —2q
Two charged spheres are separated by 2 mm. Which of the
following would produce the greatest attractive force?
57. e AF AT ve v av |9
Capacitance of any capacitor is equal to: 2 Y
58. i lm._*;gs.wﬁﬁf s * _J,l/ Y

The S.1. unit of capacitance is:

i




5Vgﬂ3u{d/§‘~?u§£f SR )ﬁﬁjh{;fiﬁpF s14pF<3pF

59. 0.6pF 12pF 14pF 17pF
-j**u"f u‘-?&: A
If three capacitors of 3pF, 4pF and 5pF are connected in
parallel with a battery of 6V, total capacitance will be:

60. A3 “KUEPES Ul dooend Zon 1| 9x10° | 9 x 10° 9x10™° | 9x107°
The value of kin S.I unit is: Nm2c2 |[Nm2c2 | m=2c2 Nm?2 C2

61. | Jutieidy Prund e otk alea Al oF 4F 6F 8F

e
If 4 coulomb charge is given to the plates of a capacitor and
potential between the plates is 2 volt then its capacitance is:

62. | -Sned SPH DT b Urasbl B e A 21| v 2V v 8V
If 4 joule of work is done on a 2 coulomb charge against the
direction of electric field, the value of electric potential is:

63. _Sstie 2 SW D s SunFUdSTALD| s C Ol o o
How will be the electric lines of force where electric field is t () from from closer
strong? positive to | negative to

negative positive

64. NC—2 NC™ N2C™
The S.I. unit of electric intensity is:

65. bl d L i s Lol ¥ éu,uz-,;_l_f
In series combination of capacitors, citor will voltage charge | capacitance | charge

have same: @ o
‘\ voltage

66. il ALK 0151 9.9x 10% [ 6.25x | 1.6x 10" | 3% 108
Number of electro have 1 coloumb of charge is: 1018

67. J:{i':Lw?F_.Lgljﬁuﬂ;;/:f{:g:SpFﬂng:éth , Cq= 3pFJ/*::f;)fﬁ 1.3pF 2.6pF 12pF 6pF

NI
If three capacitors having capacitance 3pF, 4pF and 5pF are
connected in series combination their equivalent
capacitance will be:

68. eSS LSO AT oy | AT A Dty | AT
An electric current in conductors is due to the flow of: positive | negative point free

lons ions charges electrons

69. e byt s SIME /fv"};u"l;{_.ﬁ:}}’i;/ K3A—a Ut 20l 6QLI| 2V oV 18V 36V

What is the voltage across a 6Q resistor when 3A of current

passes through it?




70. | rr3 et dGlve i Suitndfurdina & by | i | <dnd | e2s0300 | < o

e | increases | decreases | remains the | cannot be

What happens to the intensity or the brightness of the lamps same predicted
connected in series as more and more lamps are added?

71. ?E.m.fxrlg}i;’“ﬁ;uﬂ.ﬁ df j U:;l@._jf’{” 'ﬁuﬁ;’ﬂ:f.ul Uscaslb
Electric potential and e.m.f OHOPD . e i both (b)
Prepared By Syed Arfat Haider are the are the have and (c)
Physics, Leading Expert (0333-4082706) same different different

terms terms units

T ?:;_JLfv:’:bf,s:.slﬁ*'ﬁw:@qg'%_J/'Il}'i:ffﬂuﬁ:ﬂ}a:bér‘??& s sk J‘J’J}J U#sbusla
When we double the voltage in a simple electric circuit, we current power sistance | both a and
double the b b

73. | i S st e 2 Pt e fin | 30K | 6 Sbonts | st
If we double both the current and the voltage in a circuit EL:;J(@ Y doubles ;_,,f:-f_Lgﬁ
while keeping its resistance constant, the power ' four times

o]

74. | e 25A EUIBSAT EENEALE L re kD 14.5 W 30W 60W
What is the power rating of a lamp connected t @
source when it carries 2.5 A? /?’&

75. | < - 808K S s\ & by 2| 20 40 80 120
Two combined resistance
connected in series is 8Q
parallel arrangem‘l 2

76. et ST | 50 100 750 800
The electric power of washing machine in watt is:

el 3.6MJ 3.6 kJ 3.6J°" 3.6J
1 kWh is equal to:

78. it LS T3S e Sl Dute AL wbds | SeGa | Ly S Fen,| Fesied
In an electric circuit when electrons move from low to high ﬁujf .f.u_jf gain power f.u:,:r
potential they will: lose gain lose their

energy enerqy identity

79. e dnagak | aR ole Qv Qt
Electrical energy is given by:

80. -f;_iiﬁ- st u"}-f;),,d&_,g ¢ et bt Jﬁuﬂigl: ¢ :

An ideal voltmeter has a resistance: very low | very high nothing low




81. | WM E It i e isle A Liineh2emfd$ 51| 5 4J 2.8 2]
_Jf_.&/
If emf of a battery is 2V, the energy supplied by battery is
, when one coulomb of charge flows through the
closed circuit.
82. e bl #0103 A | 108A 1077 A 10712 A
One milli-ampere is equal to:
83. ‘e el w{-_}%,ﬂ;,@@ C}J)’{.EJL? K] ....L_"?;J;.@-C‘ Js ey
Which statement is true about the magnetic poles? EBL UEL)I_,W HEVF e 3 ;_,,r.?ffl,;g;ﬁ;gr
:L,gj‘f..:j:.?_{ ;,ﬂ-‘; i ;r.i./i:’wiliujﬁéfj cf LF'( unlike like poles E.::ué’j C[:aﬁ
Facebook.com/theambitious.edu.pk poles attract netic a single
;:_Cl:ifg;fﬂ':_.,eg@f_{gf LGoogle /';J:'F'L:E’J.ft_ﬁf C—_-’-’.Liﬁi; repel s do not [ magnetic
@ effect each | pole does
/ 8}'—' other not exist
84. ?;;_Jﬁﬂg_wﬁ?.@ﬁ;ri Q?;LHQ L\~:/‘_J; Fib | e Flf /u,@_@:‘
What is the direction of the magnetic field lines inside a b Q JJ;.EEJL: ngdfn J_,f:f;ﬁ?;
magnet? O _ Yy there are
Prepared By Syed Arfat Haider % from from south | from side to no
Physics, Leading Expert (0333-4082706) @ north pole| pole to side magnetic
to south | north pole field lines
pole
5. ¢ Wl | i | 2L | BNt |edr b
The presence of a magneti€ fielQ detected by a = ;.E;;g ;@;k magnetic
% small stationary | stationary | compass
mass positive negative
K charge charge
86. | S bibrdurSelni e siimdn it B gl (e ot AN octlUn | Supe
u&}.@g" di:.i_f increases | decreases | remains the | will be zero
If the current in a wire which is placed perpendicular to a same

magnetic field increases, the force on the wire




87. e 3t arnsss S | ek | janko | ian ko
A D.C motor converts g_?'.,ﬁf;f}gi e LSZJJUE..:’-( u’iﬁljlﬂc Ll Lﬁjlu@f
Prepared By Syed Arfat Haider o mechanical| electrical electrical
Physics, Leading Expert (0333-4082706) mechanical| energy energy into | energy into

energy into mechanical | chemical
into chemical energy energy
electrical energy
energy
88. | oo/ slorlal e e SISl Sl ol of¥ivsss| £ o P AL
e the the rushes | the slip
Which part of a D.C motor reverses the direction of current armature [comm rings
through the coil every half-cycle? @

89. e A AL Ui S ey L L&ﬁ/ FuFL A LG
The direction of induced e.m.f. in a circuit is in accordance Iy /( Lﬁu}"/ % lefic,ﬂ:fﬁ}f. Z.;F:'ﬁu){
with conservation of *"CD&WL.;J;E' momentum | bl d6
Prepared By Syed Arfat Haider O %3 charge energy
Physics, Leading Expert (0333-4082706) /-)% mass

90. SN J | dat s :-“”i")m«:..wl uiﬁfdf A S SGed
The step-up transformer bl <l g,“!:‘i.:f/gugj .?_,nf/é H’uﬁ
Prepared By Syed Arfat Haider increases | increases | has more Wi
Physics, Leading Expert (0333-408 the input | the input | turnsinthe | has less
The Ambitious School and\£ - Shahdara current voltage primary turns in the
FSC Classes Starting Fop \ E secondary

@ coill

91, \ Ji10eSUr 8l 614 1|1g=101p | N = No | Ng=10Np q _ Y
The turn ratio of a transformer is 10. It means 0 A

92. Ce GPA b sl i I S 83| 300 45° 60° 90°
In D.C motor, coil can rotate in magnetic field by an angle of:

93. e efg| Pafie | Lo | Lraver | LoPbos
The transformer works on: ,;dr“li ,:;J:-"l < Ied ,;Jr"l
Prepared By Syed Arfat Haider principle | principle of | principle of | principle of
Physics, Leading Expert (0333-4082706) of mutual | D.C motor | A.C genertor self
The Ambitious School and Academy Shahdara induction induction

94. el s pal S G 1Kl SIS 588 | a > K 2y
It blocks DC current but allows AC current to pass through capacitor | resistor |thermometer motor




95. et Lol ka | B | R | P [ oS
The process by which electrons are emitted by a hot metal boiling |evaporation| conduction | thermionic
surface is known as: emission

06, dpE bmpoe LSt Baci| iy | #12E 3 3 260
The particles emitted from a hot cathode surface are: positive | negative protons electrons

ions lons

97. ?%JJJJ/&*L&,: A st i i
This symbol is of the gate? AND NOR NAND OR

A
X
B

98. ?ii:.Cs@d’b:;:ﬁ@&&f@?qﬂﬁlu’%i;uf uf‘t*f;t u'*f Uf‘:fft u";'f,tf

AND gate can be formed by using two NOT gate l NOR gate NAND
(ar—-l gate

99. hﬁ::;.:}ﬁ‘1b@.:.rﬁ£:.fiti_u_a;u!u BaA = *ED‘B-ZJ:FA =0|B=0,A=0|B=xsA=1
The output of a two-input NOR gate is 1 when: =0 1 1

100. s 1J2X5X DA | b= LA=0 |B=15A=0|B=sA=1
If x = A.B then X is 1 when: 0

101. A=1,B=0 1"

If X =A.B then X =0 when
102. B=0A=0| B=lA=1
1

103. 3 4

104. 8V 9V
In tungsten filament, the potential given to produce the
beam of electron by 'Thermionic Emission’ is:

105, —aln0e,esSefT|A=0,B=|A=1,B=| A=0,B=1|A=1B=0
The output of OR gate will be "0" when: 0 1

106, c bl T |X=A+B| X=A.B| X=A | x=AB
Equation of AND operation is:

107, X=05X=A+B,/1|A=0,B=|A=1,B=|A=0,B=1|A=1,B=
If X=A + B then X =0 when 0 1 0

108. ce S S e | Y | s 5 ny 5ol
In computer terminology information means any data | raw data | processed | large data

data




109. Ce w;fg,;;b’uf:@}” Vsl bollond fimsz | 5ga K Jdsd k. 5 AV BT A T
Which is the most suitable means of reliable continuous micro radio sound any light
communication between an orbiting satellite and Earth? waves waves waves wave

110. e e | B | A | e | Usicia
The basic operations performed by a computer are L;‘“"",;T ;"'Jﬂj logical both a and
Prepared By Syed Arfat Haider arithmetic | non-anthmetic| operations C
Physics, Leading Expert (0333-4082706) operations | operations

111. _,:._i;“grz‘"j:,:‘.jb"fv/ 2L s Y Lt
The brain of any computer system is: monitor memory CPU control unit

112, e Sl Souf | s | WORe | 0L | W
Which of the following is not processing? arranging manipulaﬁr}qr\raqlating gathering

113. ?pfé/uwbﬁﬁ]rJﬁ;/bﬁTTL u/:, uﬁj_i.;;ﬂ S :L‘?@ *‘J;_‘I.{ Tl
From which of the following you can get information almost books - computer internet
about everything ( aﬁ

114. e . SIS S J‘(\:D‘-:J{L; 0 S SIS
What does the term e-mail stand for? ey | electronic | extra mail external

mail mail

115. L™ 1014 1024 1034
A mega byte has how many kilo bytes?

116. <56 <s8 <510
One Byte is equal to:

147 Gt Sl it | i 37 L3 Ko p
In computer terminology th r inery refers to: software | hardware data procedure

118. _%\; Us? (CBIS) A dtitind | 3 4 5 6
The {:ﬂmputer-bas afion system (CBIS) is formed
by:

119. _;;_J;—s‘_JLnHLi;J::.QJuJ}Jlrw}J: ,f)::_.r Y yy 2R
The technology used in cell phone or mobile phone is: computer | RADAR radio satellite

120. —eslb3(1 GB) AR LI £1024 | €41024 | 2461000 | 1024
One giga bytes data equals: Ll .-_,ﬁ

121 gEESEL | oad | FASE | ol
Fax machine is also called : Radio Computer Tele Telephone

fassimile
machine

122. -.-;_uf;;:iu:h.,;,-wﬁ_ 9401 l{a/ —y / PGl e G-
Which of these is not web browser? chrome | you tube mozilla safari

firafow




123. e b AR LAl e G T | AL SR CI YA BVER CY
|sotopes are atoms of same element with different atomic atomic number of | number of
mass number protons electrons
124, eI T T U LT kshy | 92 146 238 330
. The number of 233 LI One of the isotopes of uranium is
neutrons in this isotope is
125. Senlinl BAGSS = AL 5En| Sk il o | el
Which among the following radiations has more penetrating beta gamma alpha Jé_,,ef
power? particles rays particles &".g’i.;fuf
Prepared By Syed Arfat Haider %.&:f
Physics, Leading Expert (0333-4082706) all have
The Ambitious Academy Shahdara the same
@ penetrating
(E)"] ability
126 ¥y Sy AL N/ T Ftr Lottt fia | 2@y O | Kbndn | Wbonfl
What happens to the atomic number of an element whic bﬁf_-j: decreases | decreases
emits a beta particle? o%reases stays the by 2 by 1
@-1% by 1 same
127. | Fhed i T L L S i \"E?{Q a7 | Soreg |1 e Uty
T f one-quarter S ;_ff
one-eighth
The half-life of a certain isotope is 1 the one-half none of
quantity of the isotope after 2 days? d@a these
128. s PSS Fy ) @.ﬁg (59,92) x| 93 90 91 92
When Uranium (92 proto a beta particle, how
many protons are eémaining nucleus?
129. ks S b5 92 232 L Juu:,; S ikl | sl
. 92 is the number of: EEE Uln S St
130. S B8 L S o | LA | Luid e | p8& LT | Pl
Release of energy by the sun is due to: &%) 2 i &= 2L
nuclear nuclear burning of | chemical
fission fusion gases reaction
131. e St 3l g e Sulia | G | G |ekgadid | gaks
When a heavy nucleus splits into two lighter nuclei, the fﬂ@JG ;_pi—r_,j.f gfﬂ j}f.f,.;f
process would release absorb release absorb
Prepared By Syed Arfat Haider nuclear nuclear chemical chemical
Physics, Leading Expert (0333-4082706) energy energy energy energy




132. e L E S aPu ikl 085 1.85 2.85 3.85
in years is: 2;3 Pu The half life of plutonium

133. ce b el st [131-¢eT | 32-006 | 60-24L | 140k

To diagnose the brain tumour, it is used:

134, e SIS EUS B AT gy T 5.07 6.07 7.07 8.07
The half life of iodine isotope in days is:

135. _.-;_._ﬂu_wy' 10.6 h 10.4 h 10.2 h 10 h
The half life of lead is:

136. ceI SIS TE P 2 3 4
The isotopes of hydrogen in number are: (/@

137. ce LS 14-8 | JL-1646 @\\5 Ju5000 | JL1900
The half life of carbon-14 is: [8}

138. -L,Eijjdhé_ﬂdb}lcjhuiéb’;%é;u{’_'.,:‘ 7 \J;v v\ n.-,_ff |
The rays used during brain radiotherapy are: Q

139. st §ii gt o H 2 3 4
In Tritium, the number of neutrons are:

140. P ] J2800 [ Jw1620 | JL-5730
The half life of radiam — 226 is:

141, ‘ IR JU-5730 Ju30 Ju2.85
Half life of hydrogen is: @

142. @ ?,f_rﬁg’_f;gs.lb’;_ﬁg) el Fr ) K
The S.1 unit of frequencﬂ%\ second hertz ampere newton

143. \-// _,T_Ufiﬁh’uiﬁ‘i.{ = —kx k:_E E :_L F .
Formula for Hooke's law-s: : > X

144. S (el BT by kil | 3ol | St 599 G200 | Govst
How does sound travel from its source to your ear? .:-:J J',.a.? ;.;,_-,,-f"*}:"h .:J;..EJ =y
Prepared By Syed Arfat Haider 2 by by by infrared
Physics, Leading Expert (0333-4082706) by vibrations |elecromagnetic| waves
The Ambitious Academy Jia Musa Shahdara changes | in wires or waves

In air strings
pressure
145. _brlolins /2 K430 U21.5 seceh 320 ms‘1ﬁ;£ﬂbuﬁﬁ 331.5m 333.5m 480m 221m

If speed of a sound is 320 ms~1, the distance covered in a

time of 1.5s will be:




146. -2 e a6 I:Tufuf}f} 10dB 30dB 40dB 70dB
Sound level for whispering is:
147, e GGt f | 2x108 | 2x108 | 3x108 | 3x10°®
Speed of light in glass is: ms—] ms—1 mg—] ms=1
148, ottt Dy | Ssestis | Sesestsy | et | Stsdi
A positive electric charge {_I':/Cé; {_Lr/jj/ q_.l:*/ T_l:'fclf-;
Prepared By Syed Arfat Haider repels attracts attracts a repels a
Physics, Leading Expert (0333-4082706) other other neutral neutral
positive positive charge charge
charge charge
149, e treyS KL v Jz v L
S.| unit of electric potential is: Watt )lad-le\ oloumb Volt
150, _.slff_.t'ﬂﬂf’ibb/uﬂﬁ 1| E =Faq,q 3@ [ g=30 | __ L)
Formula for electric intensity is: ‘ %o
ANSWER KEY (Sy %t Haider)
NO. | Best Option | NO.| Best Option | NO. | Best Option | NO . | Best Option | NO. | Best Option
1 A 26 C 51 B C 101 D 126 A
2 A 27 A 52 B,/J‘ A 102 B 127 B
3 D 28 D 53 X 78 B 103 A 128 A
4 A 29 A 541~ ; 79 C 104 A 129 A
5 B 30 B A 80 B 105 A 130 B
6 C 31 A C Q D 81 D 106 B 131 A
7 B 32 \-/;? D 82 A 107 A 132 C
8 B 33 C 58 B 83 D 108 C 133 B
9 D 34 B 59 B 84 B 109 A 134 D
10 B 35 D 60 A 85 D 110 D 135 A
j C 36 D 61 A 86 A 111 Cc 136 Cc
12 C 37 B 62 B 87 C 112 D 137 B
13 A 38 A 63 D 88 B 113 D 138 Cc
14 C 39 B 64 C 89 D 114 C 139 B
15 A 40 C 65 B 90 B 115 Cc 140 Cc
16 B 41 A 66 B 91 C 116 C 141 A
17 C 42 C 67 A 92 D 117 B 142 B
18 A 43 B 68 D 93 A 118 C 143 A




19 A 44 A 69 C 94 A 119 C 144 A
20 B 45 C 70 B 95 D 120 B 145 C
21 D 46 A 7 B 96 D 121 C 146 B
22 B 47 C 72 A 97 C 122 B 147 B
23 A 48 A 73 D 98 D 123 A 148 A
24 D 49 A 74 C 99 C 124 B 149 D
25 D ‘ 50 A 75 A 100 A 125 B 1350 D

THE AMBITIOUS ACADEMY SHAH
SHORT QUESTIONS (o

ﬂ-—ufde@ LISEL | 2 " sﬁ’mﬂ.r;fi-u:/u.tgufﬁ | 1
Is there any difference b/w echo and reflection of State Hookegs awejsc- defne Restoring force.
sound?
;_,:/;JBJW_Jsé_,ﬂ;r,:iﬁnﬁ_gnéndwgﬁl 4 _%ﬂsmmfs,ww JLJ,.L"-’:J)?':J""J"J( ;mep 3
Write the factors affecting induced emf. Q ::D‘Smﬁ@
The Ambitious Academy Shahdara (/' £Lk( d‘;r he frequency of sound wave having speed
%Q 40m/s and wavelength of 0.5m.
oL ﬁK : ‘e STl | 5
State Lenz's law What is difference b/w music and noise?
8 ,u::””/;.;lﬁlg MJLTJJ,Jéijiziufl?;_;ygL-J;}'T w7
Write principle of AC generato What is noise pollution? Write its sources and
effects of humn health.
?.:;_;yg.:, fllﬁf 10 e J )gl_;:_rffnjwrgj}n}in 9
What is mutual induction? differentiate b/w ultra sonics and infra sonics.
SIS | 12 U S T pmr e 5| 11
What is transformer? Write its construction. Explain audible frequency range.
e O /UL P Sl i | 14 Ce sl sbrl U 1l S| 13
Write difference b/w Step up and step down Write uses of ultrasonics. Or What is SONAR?
transformer.
‘e UL/ | 16 sl e (SIS 6| 15
What is Relay? What is silent whistle?
e S| 18 e S iy S A A S| 17

Define electronics.

Define reflection of light and draw its diagram.




SISt 3L RS

L ol i o d .y S i # | 20 19
Define thermeonic emission. Write factors which State laws of reflection of light.
can increase it.
L UL o s g S S A | 22 ?g.:ygf&,ﬁqa;ﬁ';..f;rﬁ FLL- kIS A5G| 21
-u:""g Explain types of reflection of light. OR What is
Define CRO. OR write parts of CRO. regular and irregular reflection of light.
ISP S5O0 L 15 6l 9| 24 e W e I gt s S| 23
Wxplain deflection of electrons through electric and What are spherical mirrors? Write their two uses.
magnetic field.
b Las Ut _fese 3l s 91| 26 e S o | 25
u;‘)f_—,;yﬁs’jicliu@;}? f};_;fﬁfﬁ"f;;leﬁg i Write difference b/w convex an ve mirror.
Write the purpose of electron gun in CRO. OR
What is electron gun? OR Write the purpose of grid The Ambitious School @: my
in electron gun. (03334082706) (‘D
3 A5S Lﬂf-_u/tfvr'ﬂ/ﬁr b S| 28 | e sy */J._%»-J A8 GAU S fs /TPy | 27
Y L}w YUsy ,/-‘;_7’ Ml "'_J,l:-i..ﬂf-/( -uf b
What is difference b/w analogue and digital ifferenc€ b/w pole and centre of
electronucs? OR define degital electronics. OR C ?0OR define centre of curvature and draw
What is relation b/w digital quantities nad digital f\(-@am.
electronics? / Q)
th'»_i_;'ruyu;i@_ﬁ!t;igt;_:yﬂl.f:.,uuwjﬁ:; ' J Sz os S Lfr'u Wil Jos PSS (5| 29
Define refraction of light and draw its diagram.
What is difference b/w analogue digitat/ The Ambitious Academy Shahdara ﬁg&i&ff
quantities?OR What are analogde q ies? Give
and example. ‘ @
sl U= ADC L P53 SN 3 /U UADACHADC| 32 I IFETIwE S| 3
fe sl e DACLS< State Snell's law.
Write difference b/w ADC and DAC?
Lo S el AN e b e, T [ 34 LAt I RS 33
K sl Ufhrf;i!j;_,h’fuf o J"i:;lg..uf'bf. J*;ﬂ*'}ﬁuf;ﬁ’h_; T&) State laws of refraction of light.
uf{,k'-f; y. The Ambitious Academy Shahdara ﬂg&iJTT
What is AND gate? Draw its circuit, symbol
diagram and write its truth table.
ot Sy NS e RIS T| 36 | Ve e S S e e L ey ST | 35

What is OR gate? Draw its circuit, symbol diagram

and write its truth table.

?g"_;[/'
Define refractive index w.r.t Speed of light. OR what

Is meant by refractive index.




I By S AP S

s ke lisdede e e e e oot 38 37
i HL?.J"" b/j;,#:._b;: .:.?Tugl Define total internal reflection and write its two
What is NOT gate? Draw its circuit, symbol conditions.
diagram and write its truth table.
el Uit SAVUA S| 40 | EE AR Bra0C Kk by S Fa £ Q| 30
What is difference b/w data and information? OR 16101 33
Deline-date, Find critical angle of water if refracted angle is 90°
The Ambitious School and Academy
and refractive index of water and air is 1.33 and 1
Respectively.
Ve IR e e BICH e e il | 42 sz S A | 4
fesly Define power of lens. Write it
Define information. OR what is information Prepared By Syed Arfat-Haje
technology? OR what is tele communication? Physics, Leading Ex = 3-4082706)
SIS s e PRI GG o | 4a LS 43
?,f:_.rl/l_f;.ICT What is diff ce(djw nearsightedness and
What is meant by information technology and fars R Wrire defects of vision.#
communication technology? OR what is meant by I-(’;) r y Syed Arfat Haider
ICT? @&w Leading Expert (0333-4082706)
e Qb s Y f—\;.;_,,ﬁféndug.;w;;;_t-qui,;zFa:uL;:Jﬁfi{?_g@ 45
What is fax machine and how it works? 2 ffLeG/L*f,
The Ambitious Academy Shahdara ﬁitk*(u(T@ Draw ray diagram when an bject is placed at 2F
from a convex lens.
48 ey iy S S e | 47
Define charge. Write its unit and properties.
50 SIS g | 49
What is computer? Write its uses. Define elctrostatic induction.
SIS v s Sest Ve rasirite Wi | 52 | wlestdUnta US40 useg e v 81| 51
e sefd
Wtrite difference b/w hardware and software. What is an electroscope? Write its uses and
construction.
S A GG PG Sk $n S A, | 54 S bbbl e K s 8| 53

S i)

What is difference b/w primary and secondary

memory? devices?

How electroscope is used to identify conductor and

insulator?




O35t s I S WL Sl e L,,fﬂﬂ..rli.;,-fgé ®| 56 J Ay Sl A | 55
_u:)'fuﬁ}uf State Coulomb's law.
What is floppy and hard disk? OR what is index The Ambitious Academy Shahdara Lahore
hole?
??géfﬁiﬁ_ﬂéuﬁftf_@:{h 58 . :/_.EL}"J*J,{E’._,@I 57
Define word processing and data management. Define an electric field.
Luipn g Sy fesodbe il ain g/ fless| 60 kg S fS 9| so
_l_,r;"'g_*-,L_.éJu:_f;ﬁl_l:_ufgﬂ.;’ Define electric field intensity. Write its formula and
Define internet. Make list of its uses and write its unit.
services. The Ambitious Academy Shahdara ujl‘gd':;fff
‘,l:'_"‘gff;’ﬁ.u”?{—kjuf JI| 62 e A 0| 61
What is en Email? write its advantages. Define electric field lines. e\tWQ gharacteristics.
LA P A s AL | 64 oy s @‘ 15 i | 63
Define atomic number, neutron number and mass Define electric pu@n wrte its unit.
number.
_é:,sd E‘f&ﬁfjluj)/_éiﬁufudj;’ff 66 r._,,r ¥ L-,E'L_f?.i;. b%'jféfi-%-/blj_/ffﬁh{ 65
Define isotopes and give an example. O : /"j’r{i?_}fi J::,;'L-ufl:f.f'lf'ili_uf/
The Ambitious Acadmy Shahdara Lahore (: %Eciturs are connected in series? OR Draw
(Syed Arfat Haider) f—\@t diagram of two/three capacitors connected in
Physics Leading Expert geries.
Se GG A O A I o s | 67
What is difference b/w artifical and nat Write difference b/w variable and fixed capacitor.
radioactivity?
70 ey | WY
What are background radj write uses of capacitors.
72 SIS L Sasiple U2 CARS
Define nuclear transmutation. What is meant by capacitance? Define its unit.
-ﬂ;yﬂ;ufgjﬁjg-ufg;yﬁﬁjLFJfJg;ﬁ;;sngu'l 74 e Sufu"'d_/f_@&w?{_;yg;..ﬁ/ﬁ/ﬂ Il 73
Write two properties of alpha and beta rays. What is electric current”? How it is measured?
Lﬁwlfﬂ':ﬁt;fT_l:?f_;ykE;;g..ﬂjﬁﬁrg?f_;r/__Lf;.ﬁ;ﬂ:fT 76 _u:'/&ys'/&:/:ﬂ}gmfﬁfi 75
??;yy’;;.ﬂ&_ﬁjﬁ Explain conventinal and electronic current.
What is meant by ionization and penitration?
sy § M esCog S FS - S fS | 78 ‘e dedd Feduicai e 2SR | 77
J‘"{j What is potential difference? How it is measured?
Define half life also write half life of C-14.
G el SR Tk | 80 J s esdmdig| 79

I




NSSY A ST BTN -7 el Sy FS0iel | 81
define fissionand fusion reaction. State Ohm's law and write its mathematical
expression.
St See e BE AL ey Lo Bile L A5k | 84 Sl Sy Lt o] 83
L,:)I;JMII What is resistance? Define its unit.
Write four risks of radiations and write preventions .
Ceslpe Ll | 86 teslpfe P diy| 85
What is carbon dating? What is meant by specific resistance?
P S| 88 S b ool s oy L sl Mp| 8T
Write properties of gamma rays. Write advantages of parallel circuit over series
circuit. ,_f-(-\\v
,;/wgwﬁﬁ‘&.iyéj’véﬁﬁ!.@&}?' 90 @_@ﬁﬂuﬁﬁ'&dﬁ 89
State faraday's law of electromagnetic induction. State Joule's law.
Sestple a1 92 _ Ty L el s S| 01
Define electromagnetic induction. What is megrit by ric power? Define its unit.
s (Pl Sndatim/ S 57| 94 UT,T_J,E"LJ’J:;I e E 5| 93
How resultant force on armature can be increased? \@nce /w direct and alternating current.
‘e Uirs$s| 96 @ e gﬁ:f 2| 95
What is DC motor? % t is circuit braker?
LIPS LK D e G A P o7
State Fleming's Left hand rule. 7 Write difference b/w conductors and insulators.
‘e Fodbrs @L@?MIJ 100 A |99
How magnetic force on current c -/- ctor State Right hand rule.
can be increased? Z(.:)\
w24 1] My’a &”ﬁu,‘biu 102 ?;.;yy’:,ﬁiv..jfﬁlf 101
what is intensity of sound? Write its formula and What is meant by quality of sound?
unit.
2oL S P U b e G s k50 | 104 Ce ey SIF A6 1Sl o U550 | 103
g_,g_‘/ What is loudness? On what factors it depends?
What is difference b/w Frequency of sound and its The Ambitious Academy Shahdara Lﬂ-g(.k‘:(!ff
pitch? Draw graph.
S Ly S A A | 106 f;_J)yLw:_»?ﬁéf*?mus:ﬁ’C 105
Define damped oscillations. give an example. What is difference b/w mechanical and
electromagnetic waves?
e ,ig’u:;g;uﬁ;im;ug;m%@ 108 U/ PSStk a e 107

What is difference b/w longitudinal and transverse

| wavaes?

Define time period and frequency.




U e Ll g S P et S| 110 iufﬂ;ﬁ;_:yy’;:f:ﬁ!ﬁ,; 109

Define SHM and write one characteristic. What is spring constant? Write its unit.

Extensive Questions List
Prepare any TWO Pairs
PAIR A

NUMERICALS
Chapter#10 : Examples: 10.1, 10.2

Exercise: 10.1, 10.2,10.3, 10.9,10.10 @

Chapter#12 : Examples : 12.2, 12.3,12.4(imp),12.6 @
Exercise : 12.1,12.3(imp) ,12.4, 12.10(imp),12.12(imp) O
Theory:

O

& 4 AL S Sl g S P e
(Most Important)
ipfjuk.:ﬂkﬁr'a}ufuﬂ{‘{_.ﬂ/fgi_eQF}"JFJE,J:‘J

?-:"_.L,;H.-E/r';fr

Define SHM. Explain motion of mass attached with spring

What is SHM? Write its properties. (important
U J’/ L,WJ.,F LA ﬁ;ﬁ}f-u}f o B lslays

Derive wave equation and explain ne er through waves.
- :;L).L: :L’E{,j;,u' ﬁ L,,Ejﬁxj.:.,?,& L,;E,L,F"?r‘:_. kr;@g_l;

Réfraction and diffraction by it. (Important)

What is ripple tank? Explaij refl
..c:_SHM:E*‘J,)}%U@iﬂ&r‘dﬂ%h}ké[gﬁf’
Prove that motion of ball in bowl is SHM.(Important)
—e SHM S o St
Prove that motion of Simple Pendulum is SHM.
o lort gt FoSae <o il i o Y, &
How longitudinal and transverse waves are produced with the help of slinky?
- :/@gpflijlgig);ufgi;
Explain Refraction of light and state laws of refraction.
e Bl AL A
Explain reflection of lights, its laws and types.
o PUnd Sol B A e S St S0 g Sl S PS5 oSS
Explain total internal reflection and explain what is critical angle?

e e 1 A6 T LA S UeSe st e 376




What are optical fibres? How light travels through optical fibres?

w’g...f:& /,m Eis s i b
Write a note on slide projector and camera.
BSOS Y BT AINTE
Write note on simple microscope and compound microscope.
% :/JI_',I'L:;L,JE;L;JL%I
Explain defects of vision.
il 5’:....‘::t=J@:L__j;Lﬁ'f_i’;:.}:jp-”{:”/:,uufflf'ilic.;
Explain formation of image with the help of convex lens.
L IPL Sl Ak 3
Explain CRO and its components.(Most Important)

N eSS s

fﬁ;,fjjfrf Ll,n_e-‘j/ @L:Ajruhﬁk')ig /'ILJL:;_.«;JU

Explain NAND gate as safety alarm.

What are logic gates? (AND, OR, NOT, NAND, NOR)
Symbol, Circuit diagram and trooth table.(Most Important

NUMERICALS:

Chapter#11 : Examples: 2

Exercise: 11.2 (imp)! (imp), 11.5, 11.7, 11.9

Chapter#13: Examples: 13.1 (imp), 13.2,13.3(imp), 13.4(imp),
Exercise: 13.2,13.3,(imp),13.4, 13.7(imp), 13.8 (imp) 13.10

Theory:
Se_bwe, JWSNTWE e 3 S 350ag See or® Sy 5L
Write properties of sound waves OR Explain loudness,On what factors it depends.
_c{\.ﬂ; JM’“’L}% :Lf;.-_.,.'é*'}Z.EJ
Explain the measurement of speed of sound with ECHO.
eSS s
Explain longitudinal nature of sound waves.
S WISk A

Write uses of ultrasounds.



iu_':/wk:cfl/hﬁfﬂcaﬂb:“h{:u'@; 21
Write applications and hazards of electrostatics.
Se bbbtz & U et IS 2 oS bbb to W e = 17 g S 3L S s i U )
What is an electroscope? Write its construction and how it is used to detect presence of charge, nature of charge and
identification of conductors and insulators.
S lorSeslp e I L A
State and explain coulomb's law.
(Mt ) Soud S5 2di 4
Write methods of combination of capacitors. (Series or parallel)
LI TEIL P it
Discuss components of CBIS.
WMok L e\ nd
What is Computer? Discuss its components.
eI AIRGCR 35G35 G s E s

What are information storage devices?Discuss CD, Hard disk and magnetic di

Numericals: @%

Chapter# 14: Examples: 14.1 (imp), AN4.7
Exercise: 14.3, 14.4(imp),14.5, 14.6

Chapter#15: Examples:‘IS.

Exercise:15.1,15.2,15.3

Chapter#18: Examp 2(imp)
Exercise:18.1(imp),18.2,18.3(imp)18.5,18.9(imp)

Theory:

(LS5 mend)_ S P P75
Explain nuclear transmutation.( Alpha, beta and gamma decay)
e lor? S
Explain properties of alpha, beta and gamma radiations
T A WAL sl 2 97T 4
What are radio isotopes? Write their uses.
AT NS A S

Explain nuclear fission and nuclear chain reaction.



iujfugfufré_xiﬂﬁ
Explain nuclear fusion.
S gl i F o BL AL
What are dangers and precaution of radiations.
f'r_'-ul.:»Jc{ ’Jlr ur*i::_:yu’;_mr(urﬂu;;&%
What is potential difference and emf? how these are measured?
S I6E2
State and explain Ohm's law.
A 155 A st L5
Write Hazards and safe use of electricity.

(JJD:F:L::/ (S FLEndi

Write combinatio of resistors. (Series or Parallel)

(Most Imp)
S OLCMEL
State and Explain Joule's law. @

d * ] & L - ot
o0 Pt f}JLLI/[',JLa JffoJL.ﬁ}FJIJLf S
[ Lol £ e b ?

Write the factors affecting the resistance or explain resitivity.

Explain DC Motor @

What is transformer. Explain

_.;,,:/L;J_L,J (IS L)

LA L1

@ -u/ "’L-ﬂ,!\_, r,( J‘gﬁf
@ A bnt 2

-u:/tiycf%’-@"g}gl

Explain Mutual Induction.
What is generator. Explai
State and explain electromagnétic induction.

/ o / % : /( ’ : .y
SIS et IS P i pard LS H

AMBITIOUS, Your First Choice...!!!

Regards,

Syed Arfat Haider
Lecturer, AES Lahore



